
Spraying Devices, Inc., Tel: 559-734-5555•Fax: 559-734-5591•sales@sprayingdevices.com 
www.sprayingdevices.com PI352/1218/jj 

 
Item No.               Part No.                Description               Quantity 
 
 1 53-917 Pre-Formed 3/4 In Pipe 1 
 2 53-815 Coupling 3/4 In Slip x Thread PVC 1 
 3 52-280 Elbow 3/4 In x 90° Thread x Thread PVC 1 
 4 53-906 Pipe Nipple 3/4 In x 6 In PVC 1 
 5 11-402 Air Gap Holder, Fold Down Style 1 
 6 55-101 Adapter 3/4 MPT x 3/4 In FGHT 1 
 7 55-050 Rubber Washer 3/4 In 1 
   8 69-250 Knob 5/16 In NC 1 
 9 32-504 Bolt 3/8 x 1-1/3 In SS 2 
 10 42-503 Flat Washer 3/8 In SS 2 
 11 43-503 Lock Washer 3/8 In SS 2 
 12 41-503 Nut 3/8 In SS 2 
       

SDI Air Gap 

Part No. 81-809 

Be sure to place assembled  
Air Gap over the tank opening. 
 
Drill two 13/32 In. holes in top of 
tank and attach assembled 
Air Gap as shown. 

Glued Together 

After exact place-
ment of Air Gap  
has been deter-
mined, drill two  
13/32 Inch holes  
in top of tank. 


